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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

fder .- o' yeA-w &, ‘9 R ‘W AW mvel § fawfea R
YIF TWUE h FRITTIR Ul & IW I |

Section-A 10%x2=20
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Gug—H

(atfa g S w9)

der - =t gl & SR ANUI MY ST IW A YIAER

TH V&, TH A a1 Afushad 30 vsi § qiEifia
FHIST | FIF YT 2 3T HT ¥

1. (1) The child labour (Prohibition and Regulation)
Act, ... )
o1 gty (Foy wa fem) sifafem,
(i) The Motor Transport Workers Act,
X qRaed ot etfaf=d,
(i11)) Labour Welfare Officer.
9 Hed AfHRT |
(iv) Environmental Pollution.
THTERTIE o |
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(v) Social Justice.
HHAIST =0 |
(vi) Adolescent.
[EI
(vii) Appropriate Government.

TfEd IR
(viil) Women Worker.
Hfgell &fHe |
(ix) Hazardous Work.
AR |
(x) Manufacturing Process.
fafior gfsmani
Section-B 4x10=40

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.
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gug—d

(g ST q9)

ot .- fo=l = vl & S SfSu) 9 e SRSl

sfasram 200 I B OUfEfHa ST TS T
10 37! 1 ¥

. Explain the role of Labour Welfare Officer in a

factory.
TH FREH H o9 Hedert SewRl &1 i i
AT TSI |

. What are the main provisions with regard to the

health safety and welfare of worker under the Mine
Act, 1952 7 Explain.

TE sl & W Td Hedm 7 OF  Atufm,
1952 | o1 graHH € 7 T i |

. What is actual concept of labour welfare ?

SH KA i AEAlSh Hhoudl 1 & ?

. Explain the ingredients of Industrial Sociology.

3renfiTer THeITES & fafis qwl w sEe sifsu |
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6. Explain the meaning of contractor, principal

employer and interstate migrant workers.

SheR, JuH e e sTasHE yarEr gfdei bl
AT IS |

7. What are the different kinds of pollution ? Explain
the water pollution, give your answer with
suggestion how to stop this pollution.
3o & fafy= YRRl &1 9 gU ST U i sy |
W A & goa off A

8. What legal efforts are made in India to solve the

problem of child workers ? State briefly.
IRd # 9@ o\ & g § e &g e fofuw
v few T ¥ ? 949§ aane)

9. What do you mean by the Inter-State Migrant

Workmen ?

STRIT Yt oIy & 39 91 §He § 7

PGDLL-02 / 530 / 7 (5) Turn Over

Section—C 2%x20=40

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 20 marks.
gus—H
& 3w 99

feor - 5=l 9 uvHl & S ST 9 A9 W HI SAfhan
500 =i H Ui ST J&F 999 20 3R H S

10. Labour Welfare is not the responsibility of the
State only but it is also the responsibility of
Employers and Trade Unions. Discuss this

statement in detail.
ST HEAW Had T H @ TSR TS ¥ afew Tw
frasTenl wa mEel w1 of Sifae ®1 59 weH i fasr
T AT HIfT |

11. Discuss the salient features of the Contract Labour
(Regulation and Abolition) Act, 1970.

dfaer gfaw (frawa wa feEq) sfuf=m, 1970 &
TS YEEE wt e wifs
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12. “The main causes of production losses, lie in the
social background of labour.” Discuss.
“IeareT | HHET A1 & 1 GF HRU AR BT AHISS
sy ®1" faeem wifsal

13. Define Industrial Sociology. What is the utility of
Industrial Sociology in an Industrial Organization ?

ArenfTer THSRTE Wi giRaren ifSu) SiEnfe 9ied
T 3iEnfits GASRT St N ST ® 2 SHeE
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